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1) 2 5 3 1
3x—y 3z—-x 3y-z 3
xX+y+z="?

A)6 B) 12 C) 15 D) 24 E) 30

2) 20x=15y=122,2x-3y+z=-2

x="7?
A3 B)4 C)o6 D)8 E) 10
3) 2y+z x+y+z z+2x
y X Z

. + + +2Z . . e
olduguna gore, ATY XTZ VT2 ifadesinin
Z y X
degeri kacgtir?
+ + +
since, x y.x Z.y £ What is the value of

Z y X
the expression?

A)3 B)6 08 D) 16 E) 27

4) (xz +y* +7° +50) sayist ile (6x+8y+10z)

sayisinin aritmetik ortalamasi geometrik
ortalamasina esittir.
Buna gore, x.y.z carpimi kactir?

(x2 +y + 77+ 50) with the number
(6x +8y+ lOz) the arithmetic mean

of the number geometric is equal to the
average. Accordingly, what is the

product of x.y.z?

A) 30 B) 40 C) 50 D)60 E)70

EXAM-4

S) ~

X_2_ g
y t

x-3y z+2t 3

3x+y z-t 2

olduguna gore, k min alabilecegi farkh
degerler toplamm kactir?

what is the total of the different values that
k can take?

A)10 B)Il  CO)12 D)I3  E)l4

5 ~
6) 2a—g—32 \

> = z =7

5

2b——=8
¥ /

A)L B)l O)1 D)4 E)8
16 4
7)
a,b,ceZ”

a—bzﬁzzzmin(aerJrc):?
3 4 5

A) 30 B) 32 C)37 D)4l E) 47

8) %:c_y:e_z:4’ a+c+e=16
D L
:>é+i+i:?

s g

A)64  B)36 ()24 D) 4 E) i



9) 12 3
a-1 b-2 ¢-3
a+c:?
C
A)l B)l o1 D)2 E) -
3 2

10) a,b,c € Z* olmak iizere,

a,b,c € Z" including,

olduguna gore, a+b toplam a-b farkinin
kac¢ katidir?

how many times the sum of a+b is the
difference of a—b?

A) 33 B) 37 C) 41 D) 47 E) 51

11)  AcBcC,n(A)=8,n(B)=12,n(C)=20

n(ANC)+n(C-B)=?

A)12

B)I4 C)16 D)I8  E)20

12)
ANB# Y
n(A'NB)=4,n(AUB)=11
min[n(A)+n(B)]=?

A9 B)I0 C11 D)2 E)I3

EXAM-4

13) B-Az0
n(ANB)=12
n(AUB)=21
max[n(A—B)] =7
A)9 B)8 o7 D)6

E)5
14) A ve B iki kiimedir.

A and B are two sets.

s(A) =3x-2

s(B) =3x-3

s(AuB) =4x+2

olduguna gore, x in alabilecegi en Kiiciik
deger kactir?
what is the smallest value that x can take?

Al B)2 C)3 D) 4 E)5

15) A ve B, E evrensel kiimesinin alt
kiimeleridir.

A and B are subsets of the universal set E.
A={x:x=3k+1,x<100,keN}
B={y:y=5n+4,y<120,ne N}

olduguna gire, BN (AU B')

kiimesinin eleman sayis1 kactir?

how many elements are in the set
BN(A'UB')?

A14  B)15 Q)16 D) 17 E) 18



16) A, B ve C kiimeleri, E evrensel

kiimesinin alt kiimeleridir.
A, B and C are sets, E is universal
are subsets of the set.

s (A NB ) =9

s(B ) =23

s(B NC ) =7

s(BNA'NC")=10

olduguna gore, s(An BN C)Kkagtir?

Since , what is s(ANBNC)?

A)2 B)3 04 D)5 E)6

17) A={a,b,c.d.e,f}
kiimesinin alt kiimelerinin kac¢ tanesinde
b veya d elemam bulunur?

How many of the subsets of the set have b
or d elements?

A) 16 B) 28 C)32 D) 48 E) 64

18) M =1{1, 2, 3, 4, 5, 6} kiimesinin alt
kiimelerinin kac tanesinde 3 eleman
olarak bulunur, 5 bulunmaz?

how many subsets of set M = {1, 2, 3, 4, 5,6}
have 3 as an element, but don't have 5?

A) 8 B) 16 C) 24 D) 32 E) 36

EXAM-4

19) M ={x|xeN,5< x<12} kiimesinin 3
elemanh kac alt kiimesi vardir?
How many subsets with 3 elements does

the setM ={x|xeN,5<x£12}have

A)7 B) 14 C)21 D) 28 E) 35

20) (M AN)U[M'"U(M\N)|="?
AN BM CMUN DE E)MnNN

21) AUB=E
M=(BNnA')-A

N=(B\A) UA
=>MUN =?

A)A B)B O (A\B) D)B E)AUB

22) A={x|xeN 12<x<75 x=1(mod3)}
B={y|xeN 3<x<71 x=2(mod4)}
=n(ANB)="?

A)4 B)S5 )6 D)7 E)8




23 , 27 _
b n(an)=x ) G
n(AnNB)=2x+3,n(BNA)=x+1 *
f(x)="
n(AUB)=32
= n(A\B)=?
A) Sx+2 B) 2x+5 5x-3
Ry B6  C)7 D) o 3x-2 3x—4 2x+4
D) S5x+4 E) 5x—4
3x+2 3x-2
24) s(E)=9
s(AmB)=3
s(AUB):6
s(B)=4 28) f(ij):bc;s
s(A)="? f(2)=?
A)4 B)5 0)6 D)7 E)8
10 11 13
25) A)3 By O D4 B
PcQOcCR
n(P)=3
n(0)=5 29) f(2x-3)=4x+5, f'(2a-1)=5
n(R)=9 a="
=n(PUQ)+n(PNR)=?
A)7 B)9 C)10 D)1 E) 14
A) 12 B)9 C)8 D)5 E)3
30) f(x)=3x—5, g(x):2x”, h(x)=2x—3
26) PPN (fogoh)(2)="
3 -3
f(2)=2 A)22  B)IS Q)15 D)7 E)5
39 41 43 45 47
ar s - BL=T QB = B =
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31) f:R— R olmak iizere, 34) f:[a,b] > R olmak iizere,
J:R— R o be f:[a,b] >R 10 be,
f(x):x2—6x+3 f(x)=|x—2|+|x+11|
olduguna gore, £f(2013)-f(-2007) farka fonksiyonu sabit fonksiyon olduguna
kactir? gore, b—a farki en cok kactir?
;;;g§3;v}}c(ztzzg Ot?j?dzﬂerence between Since the function is a constant function,
’ what is the maximum difference between b
and a?
A) -2007 B)0 C) 12 D) 2017 E) 2310
A9  B)YI0 Ol D) 12 E) 13
[ 35) R — R olmak iizere
2x , X2 J5 ) ’
R —> R to be,
32) f(x)= < | P Flx+5)=f(x)-2
X+— , x<+5
2 f (3) =18
\ olduguna gore,f(-17) kactir?
olduguna gore, f (%J + f (%J toplami kactir? If so, what is f(-17) ?
since, f(%) + f(%j what is the total? A) 12 B) 16 620 D24 E) 26
36) A={1, 2, 3, 4} kiimesi iizerinde f ve g
A)7 B) 8 C)9 D) 10 E) 11 . .
permiitasyon fonk-siyonlari
tanimlanmustir.
33) R — R olmak iizere, fand g on the set A={1, 2, 3, 4}
R—>R to be permutation functions
’ ) has been defined.
f(x)z(m-l—l)x +(1—2m)x+4 SR 1% 2 4304
fonksiyonu bire bir olduguna gore, &= R ) C8 = 708 VY
f(2) kactir?
olduguna gore,
Since the function is one to one, f(2)+f1(3) toplam kactir?
WhatTs 127 If so, what is the sum of f(2)+f(3) ?
A)8 B)9 ) 10 D) 11 E) 12 A) 1l B)2 03 D) 4 E) S



37) f:R—{-1} > R—{2}olmak iizere,
f:R—{-1} > R—{2} including,

2x+a

(x): x+1
x—9
(o)) =222

olduguna gore, a kagtir?
Since, how much is a ?

A)-3 B) -2 C) -1 D)2 E)3

38)  f(x-1)+f(2x)=14-f(3x-1)

olduguna gore,
f(2)+£(0)+£(-1) toplami kagtir?
If so, what is the sum of f(2)+f(0)+f(-1)?

A)7 B) 11 C) 14 D) 18

39) f:[3,0)—>[6,) olmak iizere,
f :[3,@)—)[6,00) including
f(x) =x"—6x+15

olduguna gore, f "'(x) fonksiyonu
asagidakilerden han- gisidir?

which of the following is the funct f'(x)?

A) 4—-x-6 B) 6++x-5 C) 6+/x-3
D) x-3 E) 3+/x-6

E) 28

EXAM-4

40) f:R - R* olmak iizere,
f:R—R" including,

f(x)=4x2—12x+a

olduguna gore, a nin alabilecegi

en Kkiiciik tam say1 de- geri kactir?
what is the smallest integer value that a
can take?

A)9 B) 10 O 11 D) 12 E) 13

41) Resimde bir bolme 1br uzunlugundadir.
Tarah kismin alanini bulun (7 = 3).

In the figure, one division is 1 cm long. Find the
area of the shaded part (m = 3).

E) 126

C) 124

D) 128

A) 122 B) 130
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42) AF =2 cm, CH=HD =4 cm, 44) ABCD dikdortgeninde Y ve X sirasiyla
AN AB ve AD kenarlarinin orta noktalaridir.
AN = AF+CH, BE = X ED= AN+AF AB =2BC =12 ise F yazih ii¢genin alanim
bulun.
SrNHE = ?
In a rectangle ABCD, Y and X are the
A N C midpoints of the sides AB and AD respectively.
If AB = 2BC = 12, find the area of the triangle
F H inscribed F. Y
A— — —~ 3
B E D
X F=2?
A)4T  B)42 C) 45 D)46  E) 48
D C
A) 45 B) 27 C) 12 D)24  E)36
43) Resimde bir bolme 1 cm
uzunlugundadir. Tarah kismin alanim1 bulun
(m=23)
In the figure, one division is 1 cm long. Find the
area of the shaded part (m = 3)
i B 45) 2
5 § ¥ » {2 i
............ 4 & _J ey |
! | 't o
4 a
3 >S5 J ¢
A)73 B) 72 C) 75 D) 76 E) 74 = Cevre (the perimeter)=?a

A)24  B)26 C)28 D)30 E)32
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2X 3x
46) [T 1 49) ]
2X 2X
S=?
A)12  B)I125 C) 13 D135 B4 | Ty -
3x
47) ) £ = golgeli alan / the shaded area = ? x?
T T ) A)6 B) 19 C)22 D) 31 E) 37
& = 2X
2% 4
= Cevre (the perimeter) = ? x
A) 17 B) 18 ) 19 D) 20 E) 21
48)
Y 50) 2
y y )
y T = -
y "y 5
____________ : A
y y | | |
y Y 2%
o . -
3x
= Cevre (the perimeter) = ? x
= Cever/Perimeter="?y A) 21 B) 22 C)23 D)24 E)25

A)17  B)19 C) 22 D)27 E)31
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51) Seklin cevresini hesaplayin 53) Verilen parcalara gore elde edilen
(1 cizgi =1 cm) rakami secin
Calculate the perimeter of the shape According to the given parts select the figure
(1 line = 1 cm) obtained from
o &4 » » &4
799090 re & 4649
’ ) 5® -4 0% 6664
r o9 Pos /7909909
15664 POs  s0000000
Reet be
’
A) e B) ©)
r 904 Py

poddn

ool MNedoddd
/

A) 29 B) 33 C) 66 D)64 E) 128

[)) ¢ &\ ]1) 500666

*

54) Katlanmis renkli kagt iizerinde
kesimler yapildi. Diisiince kagidini a¢in ve

52) Katlanmus renkli kagit kesilir. Diisiince uygun secenegi secin.
kagid gini
Seaggi:l 101 agin ve uygun cevap secenegim Cuts were made on folded colored paper. Open

the thought paper and select the appropriate
Folded colored paper is cut. Open the thought option.
paper and choose the appropriate answer
option.




55) Katlanmis renkli kagt iizerinde
kesimler yapildi. Diisiince kagidim a¢in ve
uygun secenegi secin.

Cuts were made on folded colored
paper. Open the thought paper and

select the appropriate option.

| S
i N
N
! N
H N
~
i oy
-
i -
P
] -
| -
~
1 -
-
Lo

A Ao
K £

56) Cevap seceneklerindeki dort boliim

verilen dortgen kombinasyondan elde edilir.

Hangi kisim gereksiz?

Four of the parts in the answer options the
given quadrilateral is obtained from the
combination. Which part is redundant?

D) E)

EXAM-4

57) Asagidaki sekil, asagidaki
degiskenlerden dordiiniin birlesiminden elde
edilmistir (parcalar dondiirillmemistir).
Hangi kisim gereksiz?

The following figure is obtained from the
combination of four of the following variants
(the parts are not rotated). Which part is
redundant?

2

E

LI .
fa

58) Oq_._,_.?

S5)

A) B) Q)

4>
N@
&P
&

D) E)
24

4
\g@

&>
\LL[”®




59)

n@o—» - ?

& .
B ®®
@@

60) Asagidaki sorulardaki (60 ve 61) farkh
sekli bulun

Find the different figure in the following
questions(60 & 61) below

A)% B)g\/ C)I

l 63) T Ny4gpe
D)H E)

61)

.
j
47 X

—

:
S

LT
E)L
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64) 66)
4R e

65) Farkh sekili bulun
Find the different figure

A —_Fj B)@ c) @ 67) | A
g, R




EXAM-4

69)
A ABCDE diizgiin
Besgen
68) ABCDE regular
B E pentagon
X m(BAF) - m(FAE)
. |CF|=|AE]|
m(FED) = x
C D

Yukanidaki verllere gore, x ka¢ derecedir?
According to the data above, how many

3 ; C _______ degrees is x?

A) 56 B) 64 C) 66 D) 70 E) 72

y 70)
a ABCDE diizgiin
Besgen

- ABCDE regular
D) E) B E Pentagon

—E C—E [AK] L[DK]

m(CAK) — 66

LA

|DK| =6cm

Yukaridaki verllere gore, x ka¢ derecedir?
According to the data above, how many cm is x?

A) 12 B) 613 082 D)70 E)6/s
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71) A B o
ABCDEF bir diizgiin

altigendir.
ABCDEF is a
Regular hexagon.

C
C(AEC) = 18cm
= TA(SA) =2cm’

A3 B)I2Y3 0153 D)I8/3 E)21/3

72)

ABCD diizgen altigen,

ABCD rectangular hexagon,

[KB] L [AB]

[DH] 1 [GC]

|AB| = |BK]|

IDH| = 3v2 cm

Yukaridaki verilere gore, |AB| ka¢ cm dir?

According to the above data, |AB| how many
cm is it?

A)2vV6 B)S5 C)2v7 D)4/2 E)6

73)

ABCDEF diizgiin
altigen.

ABCDEF is a
Regular hexagon.

[GH] L[BD]
|GH|=|DH |
|AG| = 4/3cm

y/i
1

Yukaridaki verllere gore,|FG|= x ka¢ cm dir?
According to the data above, how many cm is x?

A)2+3 B)3+V3 06 D4 E)33
74)
F E ABCDEFGH diizgiin
sekizgen
G ’ ABCDEFGH is a
Regular Octagon.

ABCL, CDEM, GNEF ve

H c HAK G eskenar dortgen
’ ABCL, CDEM, GNEF and
HAKG rhombus

Diizgiin sekizgenin cevresi 1672cm olduguna
gore, tarali bolgenin alan1 kac cm? dir?

If the perimeter of the regular octagon is
1672cm, what is the area of the shaded region
in cm??

B)8+8/2 ©) 82

A) 1642 D)16 E)8



75) D K

E
ABCD dortgen, [CE] ve [DE] aciortay,

ABCD is a quadrilateral, [CE] and [DE] are
bisector,

|AE|=|DE|=|CE

,m(ABc) =35

Yukaridaki verllere gore, m(CEB ) = xkag

derecedir?
According to the above data, how many

degrees ism(CEB) =x?

A) 60 B) 65 C) 70 D) 75 E) 80

76) ABCD dortgen

A ABCD quadrilateral

[AB] L[BC]

[AH] L [BD]
- Dm(ADB) —45
|4B|=|BC

3 |-| |BD| =12cm
B 1 C

Yukaridaki verilere gore, Alan(ABCD) ka¢ cm?dir?

According to the data above, how many cm?is Area(ABCD)?

A) 60 B) 72 C) 80 D) 84 E) 96

EXAM-4

77) E,F,K ve L noktalari
A bulunduklar
kenarlarin orta
£ F noktalaridir.
X Point E,F,K and L are
B mid-points of the sides
at which they are.
. K [AC] L[DB]
c |AC | =16cm,
|BD| =12cm
= |EK | =7cm
A) 6 B) 8 o) 10 D) 12 E) 14
A
78)
F
E B
G
D H c
|AE|=|ED|,|DH|=|HC|,|CG|=|GB|,|AF|=|FB

A(AEF) - 5cm",A(HCG) — dem®
= A(ABCD) =?cm’

A9  B)12 C)18  D)27 E) 36

b
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79) ABCD dortgen

[EF] L [EK]

|AE| = |ED| =3 cm
D

IDK| = |KC| =4 cm

|AF| = |FB| =2 cm

Yukaridaki verilere gore, |[BC| = X ka¢ cm dir?

According to the data above, how many cm is [BC|=X?

A)2V11  B)2V10 0)6 D)V30 E)5

ABCD dortgen, [AE] ve [CF] aciortay,
ABCD quadrilateral, [AE] and [CF] bisector

m(ADC) =140"s m(ABC)=50", |AE|=10cm, |EF|=4cm

Yukaridaki verilere gore, Alan(EAF) ka¢ em? dir?

According to the data above, how many cm?is the Area (EAF)?

A)10  B)8V2 O)12 D)10V?2 E)10V3
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